Name Solutions Linear Algebra, Quiz 2

1) Write the following system of linear equations as a matrix equation.
2% +4x, —3x3=7
5x,+ x3=8
12x1 + 6x, —9x3 = 17

2 4 =31 7
0 5 1]|[x2|=]8
12 6 —9llX3 17
2) What are the solutions to the system represented by the augmented matrix below?

102:7]
0 2 4 10

x1:7_2X3
10 — 4x;
Xy = >
x3 ER

:5_ZX3

OR
{(7—2s,5—2s,5):s € R}
3) What are the leading variables in the system given in (2)?
X1 and x,
4) What are the free variables in the system given in (2)?
X3

5) Reduce the matrix below to reduced row echelon form.

2 4 6
1 3 6 7 R; - R; + 6R
Rl—)ERl R3_)R3_2R1 2 4 0 3 3 2

2 4 6 1 2 3 1 2 3 1 2 3 1 2 3 1 2 3 1 2 0
[3 6 7] ~ [3 6 7]~[0 0 —2]~ [0 0 —2]~!0 0 1 ]~\0 0 1]~\0 0 1]
0 0 -6

2 4 0 2 4 0 2 4 0 0 0 -6 0 0 O 0 0 O

R, » R, — 3R, P Ry - Ry — 3R,
2 2
2



